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maR | = | wn | Ao S| % | | 7 | Ba e | 07 e | = | ot | mios | meon | o | 5% | 28 mmasn| nm | —m | mar | wis | men | mr | 8 | 200 [tmmm
AR Al Al Ty | B | £ | dEm | e | B | s | S | B2 BR[| 4B | A0 | D | w3 | B2 | A

dtiE  |EERMR | 2909007 406| 14.0 59| 20| 23| 08 4 0 1 0 of 19 5 2) 33 3 0 0 0 of 19 1 6 8

- ALiRT [fEEET | 1930496 207|107, 62| 32 46| 24 9 29 0 0 o 37 5 1 46 4 1) 0 0 o 24 o 10 3
Rl WAET | 274,485 211 77 1| 04 1| 04 1 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0| 0
eNm | 349,057 27| 17| 10| 29 5| 14 1 0 0 4 0 5| 0 5 11 0 0 0 0 0 5 4 0| 1

s EHRR |[EEMR | 1069442 181 16.9 28| 2.6 17| 16 6 0 0 0 of 15 3 4 5 2 0 0 0 0 4 2 0| 0
EHEW  |hEE 298,416 30| 101 5 1.7 5 1.7 2 0 0 0 0 5 3 0 1 1 0 0 0 0 1 0 0| 1

sgR AFR |[EEFR | 1015687 169 16.6 38| 37 20 20 3 0 4 1 of 19 8 4 20| 1 0 3 1 of 15 3 1 4
e ®ET  |hih 295,680) 75| 254 3 1.0 3 1.0 1 0 0 0 0 2 1 1 12 3 0 0 0 0 3 0 2 0
S— BHR  |[#EMFR | 1279861 165 12.9 52| 4.1 31| 24 2 0 2 1 of 21 6 3 1" 0 0 1 0 ol 10 0 2) 10
B flaT  [fEEERT | 1,049,578 14|  10.9) 65 6.2 35| 3.3 5| 24 0 3 of 22 3 5 25 7 5 0 2 of 17 6 0| 0
- MER |#HEFMFR 749,506 148 19.7 15 20 1 15 0 0 0 1 0 8 2 4 13 0 0 0 0 0 9 2 4 2)
A T 320,720| 39| 122 7| 22 7| 22 1 0 0 0 0 7 2 2 1 0 0 0 0 0 1 0 0| 0
WAZIR (LR (ERERFIR | 1,151,318 182| 158 36 31 21| 1.8 4 0 0 3 o 15| 18 1 17 3 0 0 1 0 6 0 1 12
EBE  |#HEFMFE | 1314533 194| 148 39| 30 28] 21 7 0 1 3 1| 25 5 6 26 6 0 0 1 of 18 1 5| 2

B/ER |BLE  |h&E 326,075 62| 19.0 2| 08§ 2| 08§ 1 0 1 0 0 2) 0 2) 1 1 0 0 0 0 0 0 0| 0
WhE |h#i 335,488 24| 72| of 00 of 00 0 0 0 0 0 0 0 0 2 0 0 0 0 0 2 1 0| 0

TR |RER |EERFR | 2993638 3250 109 22| 07 19 o6 11 0 0 0 of 16 3 5 16 4 0 0 0 of 13 4 2| 5
R AR |[#ERFR | 1491394 178| 11.9) 21| 14 12| 08 1 0 2 0 0 9 3 5| 16 2 0 0 0 0 8 3 4 8
T |emEd [ 518,878| 90| 17.3 13 25 9| 17 2 0 0 1 0 5 4 1 1 0 0 0 0 0 1 0 0| 0
HER  |#MEMFE | 1303524 133| 10.2] 23| 18] 23| 18] 12 0 0 0 of 11 12 16 11 4 0 0 0 0 11 7 1 10

BER |giEW  |h&E 340,934 68| 19.9 14 a1 1| 03 0 0 0 0 0 4 4 3 2 1 0 0 0 0 2 1 0| 2)
BT |hiE 375,229 55 14.7] 12| 32 8l 21 7 0 0 0 0 9 2 9 6 2 0 0 0 0 2 2 0| 2

BER |[#EMR | 5355106 812| 152 145 2.7 98| 18| 34 1 6 3 ol 870 33 35 61| 13 0 3 2 of 44 1 9 61

SER EWoET|HEESRT | 1,253,582 139) 111 26| 2.1 16] 1.3 6 0 3 1 of 16 2| 16 21 4 0 0 1 of 11 9 3 5
T am |wam 348,595 24 6.9 8| 23 8| 23 0 0 4 0 0 8 0 0 6 0 0 0 0 0 6 0 0| 5
BAT PR 331,565 25 75 10| 3.0 10| 3.0 5 0 0 0 of 10 1 10 7 5 0 0 0 0 7 6 0| 7

FER |[EEFR | 4264184 737| 17.3 146 34 102| 24| 23 3 12 8 of 91| 34 14 91| 21 0 4 1 ol 66 11 5 23

- FEH |EEHH 960,051 11| 11.6] 37| 39 28| 29| 22 of 10 6 of 22 5| 12 12 9 0 1 1 0 9 3 1 3
e e 619,551 93| 15.0 22| 3.4 6| 1.0 2 0 0 1 0 6 0 4 6 2 0 0 1 0 3 5 0| 8
L0 i 404,074 450 111 16| 4.0 |17 4 0 4 3 0 5| 5 3 3 1 0 2 1 0 1 1 0| 2

. HIRE  |HPERFIR | 12638555 2,060 16.3 501| 4.0 355 28| 85 111| 75 18 of 240] 16| 80 218 62| 38 18 3 of 143 37| 12 29
R NEFH | 563,482 77| 13.7] 14| 25 13 23 2 0 0 0 of 13 0 2 6 0 0 0 0 0 6 3 0| 1
MENR (EERFR | 2818253 363| 12.9) 53| 1.9 41| 15| 15 0 1 1 o 32 5| 12 29 9 0 0 0 of 16 6 5 22

HOR™ [EEETH | 3,714,200 496 134 205 55 126| 34 20 67[ 27 1 of 68 3| 48 56| 10| 10 4 1 of 44| 24 1 9
WRNR (T (fEE#T | 1433765 173 121 128 89 75| 52| 13] 74 0 0 of 81 2| 17 47 2| 23 0 0 of 45 5 0| 3
WHERT (e 713,351 248 348 9| 1.3 8l 11 4 1 0 0 0 8 0 8 9 3 0 0 3 1 4 5 1 0
HARN |Pih 421,037 133 31.6 93| 221 9| 21 2 of 93 0 0 9 0 5 4 0 0 4 0 0 4 3 0| 0

— R |#ERFR | 1548347 200| 12.9) 59| 3.8 14[ 09 2 of 14 2 o 13 4 3 18 5 0 8 0 of 14 1 1 24
H e P 806,525 109 135 20 2.5 10f 12 2| 12 0 2 0 0 2 3 1 1 0 0 0 0 0 1 0| 2)
W] (ILRR  (ERERFFR 861,615 120| 13.9 36| 42 24| 28 9 0 1 1 of 27 5 8 29 2 0 0 0 of 10 12 1 12
s RER |EGEFR | 1774749 328 185 99| 5.6 68| 3.8 9 1 4 2 of 65 14 16 54 4 0 1 1 of 39 5 3 28|
T 386,065 94| 243] 26| 6.7, 16| 41 1 0 1 0 of 16 0 0 9 1 0 0 0 0 7 0 0| 2
s~ BWWR | #ERFR 671,178] 48| 72 1 16 9| 1.3 1 0 0 0 0 7 3 2) 10 1 0 0 0 0 7 2 2) 4
T lmww e 420,434 30 7.1 of 00 of 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 0
S RIR  |&ERFR 711,236 115 16.2 17| 24 14) 20 3 0 0 1 of 12 4 4 12 3 0 0 1 ol 10 2 0| 3
- L] 452,144 65 14.4 11| 24 9| 20 8 0 0 0 of 11 o 4 1 0 0 0 0 1 1 0| 3
B/HR |[EHE |HEFR 808,229 69| 85| 17l 21 9| 11 3 2 1 1 of 11 3 2) 8 1 2 0 0 0 6 2 0| 1
CER IRERR [ EERFR | 1681551 242|144 54| 3.2 351 21 1 0 3 0 of 31 8 5 35 9 1 0 0 of 23 5 6 7
T 416,625 50| 12,0 16| 38 1 26 7 of 11 0 0 8 5 4 3 0 0 2 0 0 0 1 0| 3
BEE  |HEMFE | 2272421 354 15| 53| 2.3 33 15| 12 9 4 3 of 23 12 5 68 15| 10 1 4 of 26| 13 10 15

FER  |BET e 718,774 170[ 23.7 5 07 5 07 4 0 0 1 0 0 1 3 4 4 0 0 1 0 0 3 0| 4
R |HEEHTH 812,286 44 54 12| 15 3| 04 1 0 0 2 0 5| 2 1 7 3 0 0 0 0 4 0 2 1

BHR  |[EEFR | 4042843 464 11.5] 53| 1.3 32 o8] 1 2 3 0 of 23 1| 16 Ml 12 2 2 0 of 26 15 2) 14
AHET |[fEEHT | 2254891 350 155 48[ 21 46 2.0 6| 38 2 2 of 47 0 1 24 4 19 0 0 of 17 1 1 8

ZHMR |2@AW  |h&H 422,106 34| 81 2| 05 1| 02 0 0 2 0 0 1 0 0 0 0 0 0 0 0 0 0 0| 0
2fm |PET 379,582 104| 274 6| 1.6 6| 1.6 1 1 0 0 0 8 0 0 4 1 1 0 0 0 4 0 0| 4

E o n e 379,184 65| 17.1 5 1.3 5 1.3 5 0 0 0 0 0 0 0 9 4 1 0 0 0 0 0 0| 0

ZER |ZER |#EFR | 1868860 399| 21.3] 48| 2.6 34| 18 10 0 4 1 of 23] 19| 14 18 3 0 3 0 of 15 6 3 5
g |[HER O |HERR | 1079176 180 167 51| 47 20 27| 14 1 8 2 o 3 7| 3 24 6 0 1 of o 23 2 1 8
HHR Kigm | 342,603 41 120 14| 41 7| 20 5 4 0 0 0 7 3 6 5 0 0 0 0 0 2 0 0| 1
N REBAT  |[RERTR | 1,165,185 200{ 172 51| 44 3t 271 8l 4 7 of o 250 8 6 220 3 0 1 1 of 16| 3 0 6
R W#ERT |fEEET | 1420719 83 58 58| 4.1 13| 09 2[ 40 0 0 of 12 5 6 5 0 0 0 0 0 4 3 0| 0
KIRAF  |[#RERFR | 3695324 649 17.6) 128 35 83| 22| 24| 13 6 2 1| 59| 19| 37 63| 22 0 0 1 ol 31| 17 5 32

KR |f5%E#FH | 2667,830) 1,643 61.6 2,864 107.4 7| 271 23] 2761 0 0 of 59 9| 60 66| 15 8 0 0 of 35 30 13 12)

Rl HEEET 849,107 118 13.9 16[ 1.9 14 16 10 2 0 0 of 14 3| 10 8 6 0 0 0 0 8 0 0| 0
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KRR |2 |hiE 400,086 104| 26.0) 7| 177, 32| 80 3 0 6 7 1| 48] 2 1 17 0 0 0 0 of 16 0 0| 7
BT |hih 356,388 44| 123 15 4.2 14[ 39 3 0 0 0 0 5 2| 14 8 2 0 0 0 0 4 5 0| 1
RABRT |z 501,349 79| 15.8] 24| 48] 18| 36 9 0 1 0 of 18 5| 13 10 5 0 0 0 0 9 8 2 0
wAM  |hih 408,610| 39| 95 4 1.0 1| 02 0 0 0 1 0 3 2 2) 4 0 0 0 3 0 6 5 0| 6
EEER |#HEMFE | 2607950 452 17.3 50| 2.3 451 17| 15 3 0 4 ol 371 11| 109 M 9 0 0 1 of 31 12 5| 5
#WEM  |[fEE#T | 1553789 223| 14.4 48[ 31 19 12l 1l 15 0 2 of 15 3| 13 12 3 1 0 0 0 8 4 2) 0
EER [EBH |[PEH 543,991 49 9.0 14| 26 9| 17 0 4 1 1 0 9 1 5 7 0 1 0 0 0 7 5 0| 0
wmEm | 482,506 26 54 3| 0§ 2| 04 0 0 0 0 0 3 1 0 7 2 0 0 0 0 7 0 0| 0
BT | 467,125 69| 14.8] 11| 24 10| 21 1 0 0 3 of 11 1 8 8 0 0 0 0 0 8 6 0| 0
=nm RRR  |[#ERR | 1038065 160 15.4 42| 40 25| 24 9 0 0 0 o 23 7 7 22| 8 0 0 0 of 21 4 0| 2)
=R |hiEE 364,969 34| 93] 13| 36 11| 30 2 0 0 0 0 9 0 1 7 1 0 0 0 0 7 1 0| 2
LR | HERFR 633,172 81| 128 10f 16 8l 13 1 0 3 0 0 6 3 3 6 0 0 0 1 0 6 2 0| 3
EIEATIES
AT | Pz 379,064 25 6.6] 1 03] 1 03] 0 0 0 0 0 1 0 1 3 0 0 0 0 0 3 3 0| 3
BRR ([RIR |#HEFMR 587,067 118| 20.1 10 1.7 3| 05 1 0 0 0 0 2) 5 1 7 1 0 0 0 0 3 1 2| 5
BiRR |BIRR (FHEFR 711,364 156| 21.9 17| 24 71 1.9 2 3 0 0 0 3l 17 2 10 2 0 0 0 0 3 0 0| 3
FEILE  [#EFFR 757,288 72| 95 100 13 5 07 0 0 3 0 0 5| 0 2) 6 1 0 0 0 0 5 1 0| 8
IR (@ (fEEET 704,572 108| 15.3] 27| 38| 14| 20 7 6 1 1 0 7 40 10 5 1 1 0 1 0 2 1 0| 0
A |hih 483,348| 67| 13.9 19) 39 7| 14 2 3 0 0 0 8 0 4 4 1 0 0 0 0 4 1 0| 4
LR |#EMFE | 1216533 219 180 24| 20 11| 09 2 0 1 0 of 10 4 4 9 1 0 0 0 0 5 1 3 4
LER |LK&ET ([fEE#H | 1186928 155 13.1 12[ 10 11 09 3 4 1 0 ol 10 1 5 6 2 0 0 0 0 1 0 2) 1
Bm | 472,839 41| 87 4/ 03 3| 06 3 0 0 0 0 1 0 0 7 0 0 0 0 0 0 7 0| 0
uoe WO (#RERFR | 1165428 202 17.3 56| 4.8 37 32 5 4 16 1 o 32| 28] 11 20| 0 1 6 0 o 14 7 0 6
8 TBI® | 277,718 36| 13.0] 1| 04 of 00 0 0 0 0 0 0 1 0 1 0 0 0 0 0 1 1 1 0
wHER |(ERR |HEMFR 782,342 107| 137 23| 29 6| 08 1 0 4 1 0 9 0 2) 7 0 0 0 0 0 3 3 0| 4
— FIR | HERFR 580,676 58| 10.0 1 19 6 1.0 2 0 1 3 0 3 1 2 5 0 0 0 1 0 3 2 0| 2
N T T 429,352 77| 179 9| 21 8l 1.9 4 0 0 0 0 3 0 7 3 2 0 0 1 2 0| 0
S BIEE | HERFE 918,477 100 10.9 4 04 3| 03 1 1 0 0 0 2 1 1 1 0 0 0 0 0 0 0 0| 2
N ST ey 518,050| 60| 11.6] 2| 04 2| 04 1 0 0 0 0 2) 0 0 2 1 0 0 0 0 2 0 0| 0
S BHE  |MEMFS 415,366 191|  46.0) 16| 3.9 11| 26 0 0 0 1 of 11 1 0 6 0 0 0 0 0 6 0 0| 1
m mET | 338,909 56| 16.5 3| 09 1| 03 0 3 0 0 0 0 0 2) 0 0 0 0 0 0 0 0 0| 0
EEE  |#HEMFE | 2356940 531 225 85 3.6 33 14 8 of 39 14 o 24 20 8 69 4 0 3 3 0 8 3 2 14
p— BET  |fEEET | 1474326 130[ 88 79| 54 19 13 9| 63 0 0 of 19 3 0 20| 8 3 0 0 of 20 0 1 1
. M |HEEHTH 981,891 171|174 43 44 21 21 20 11 18 2 0 2| 14) 12 25| 20 7 3 0 0 7 4 0| 8
ABRH iz 305,656 62| 20.3 10[ 33 8| 26 2 0 0 0 0 9 3 6 2 0 0 0 0 0 2 2 0| 0
EER  |EER  |HERR 852,285 133 15.6 27| 3.2 1 13 4 0 4 1 ol 10 1 4 15 4 0 1 0 0 5 5 4 3
- RIER | #EFFR 985,215 126 12.8 19( 1.9 11 3 0 0 0 ol 10 4 5 5 1 0 0 0 0 3 3 0| 6
. RigH | 439,318 37| 84 7| 1 7| 1 7 0 0 0 0 7 0 7 9 7 0 0 0 0 9 7 0| 0
- BAR  [#ERMR | 1091399 242| 222| 52| 4.8 24| 22 5 o 21 1 ol 20| 16 9 31 3 2 3 0 of 16 7 0| 30
R AT |fEESTH 734,287 75 10.2] 7l 109 5 07 3 2 2 3 0 4 3 4 5 1 2 3 1 0 1 1 0| 1
P DR |HERFR 719,060| 176 24.5 15 21 4 08 1 0 3 0 0 4 6 0 8 0 0 1 0 0 5 0 1 9
8 Ko | 478,794 48[ 10.0 7| 15 7| 15 6 0 0 0 0 7 3 0 3 2 0 0 0 0 4 1 0| 2
S BHR | HERR 736,596 120[ 16.3 20 27 14) 19 0 0 2 0 0 8 1 7 5 0 0 0 0 0 3 3 0| 4
AR =T | 405,890 71| 175 14| 34 12| 30 6 0 0 0 0 8 1 6 5 5 0 0 0 0 5 4 0| 5
- ERBR |[#ERMR | 1003876 158| 14.4 26| 24 14 13 4 0 0 0 0 9 5 3 7 0 0 0 1 0 4 3 0| 5
BREM | 609,250| 51 84 40 07 3| 05 0 0 0 0 0 0 3 1 4 0 0 0 0 0 0 1 0| 0
hEBIR [EDERFR | 1125872 316| 28.1 86 7.6 70 62| 28 12 2 2 of 56| 24 31 53] 16 6 0 0 ol 20 18 3 26
R MERT | P 322,486 71| 220 23 71 19| 5.9 7 3 0 0 of 19 4 1 17 5 1 0 0 0 8l 10 0| 1
&t 128438348  20523| 16.0 6807| 53 2473| 19| 705| 3337 446| 138 3| 2,007] 551 816 1938 430 160 79| 40 1| 1,214 445 153 631

X MEFROFEBICETIHEL. ERNOHTREAHDOHEEATIND,

[B%={E]

OFTRABHE R
Q@F SR

@hTs - IR (R - IR E A X ERRE)

HMEAD105AH=Y204. A
D MRMEAD10FAHEY 104 B
ORFZENREY - HRMWRAO10BAH:Y 64 A

40%




